

Institute of Technology

(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

5.1.2 Average percentage of students benefited by scholarships, freeships etc. Provided by the institution / non- government agencies during the last five years

Year wise List of students benefited by Scholarship

Index

Sr.No	Content	Page No
1	AY 2020-21	1
2	AY 2019-20	5
3	AY 2018-19	11
4	AY 2017-18	19
5	AY 2016-17	28



Institute of Technology

(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

5.1.2 Average percentage of students benefited by scholarships, freeships etc. provided by the institution / non- government agencies during the last five years

Year wise list of Students benefited

AY 2020-21

TRUST NAME	NO OF STUDENTS	AMOUNT
они јуоті	1	107043
NORTH STAR ROTARY CLUB	1	10000
VES EDU. FUND	13*15000	195000
VES WELFARE SEC.	1	10000
VES EDU. FUND	1	10000
SINKHAI FOUNDATION	2*10000	20000
SAI VILRYATRAI SAI JIWALSINGH	1	25000
SAI VILRYATRAI SAI JIWALSINGH	1	20000
VES SCHOLARSHIP A/C	1	15000
VESIT ALUMANI	2*25000	50000
TOTAL A	24	462043

TRUST NAME	NO OF STUDENTS	AMOUNT
SHREE VENKATESHWAR NIDHI TRUST	1	31000
TOTAL B	1	31000

TOTAL A + B + C	TECHNOLOGIA	1093043
TOTAL C	36	600000
VIVEKANAND JYOTI	6*25000	150000
STUDENT AID	30*15000	450000

1



SR NO	TRUST NAME	NAME OF STUDENTS	CLASS / DEPARTMENT	AMOUNT
1	OHM JYOTI	PILLAI VIGNESH	INFT - IV YEAR	107043
2	NORTH STAR ROTARY CLUB	RUTVIK VEDAK	INST - II YEAR	10000
3	VES EDU. FUND	DIPTI RAJESH MENGHANI	CMPN - II YEAR	15000
	VES EDU. FUND	DEEPAK ASHOK TEJWANI	CMPN - IV YEAR	15000
	VES EDU. FUND	NIKITA SAMTRAI	CMPN - III YEAR	15000
	VES EDU. FUND	ROHIT R VADHYA	CMPN - III YEAR	15000
	VES EDU. FUND	KULDEEP SINGH KHALSA	CMPN - IV YEAR	15000
	VES EDU. FUND	PRAVEEN MIRCHANDANI	IT - III YEAR	15000
	VES EDU. FUND	MEGHNA ATHANIKAR	EXTC - IV YEAR	15000
	VES EDU. FUND	PRAVEEN MIRCHANDANI	IT - III YEAR	15000
	VES EDU. FUND	DEEPAK TEJWANI	CMPN - IV YEAR	15000
	VES EDU. FUND	HITESH D RAMRAKHIANI	CMPN - I YEAR	15000
	VES EDU. FUND	PUNJABI NARAIN DEV	IT - IV YEAR	15000
	VES EDU. FUND	ADHIKARI MOHIT HAYATSINGH	EXTC - III YEAR	15000
	VES EDU. FUND	KALWANI DIVYA PRAKASH	CMPN - IV YEAR	15000
4	VES WELFARE SEC.	ADHIKARI MOHIT HAYATSINGH	EXTC - III YEAR	10000
5	VES EDU. FUND	ANJALI ANAND HASSANI	CMPN - III YEAR	10000
6	SINKHAI FOUNDATION	SAHIL JADHAV	EXTC - III YEAR	10000
	SINKHAI FOUNDATION	RANE RIDDHI KISHOR	EXTC - III YEAR	10000
7	SAI VILRYATRAI SAI JIWALSINGH	SAGAR SIDHWA	CMPN - IV YEAR	25000
8	SAI VILRYATRAI SAI JIWALSINGH	AADITYA BUNTY HETWANI	CMPN - I YEAR	20000



Institute of Technology

9	VES SCHOLARSHIP A/C	MERCHANT MAAROOF SAJID	EXTC - II YEAR	15000
10	VESIT ALUMANI	GAURAV MANDAL	IT - II YEAR	25000
			CMPN - III	
	VESIT ALUMANI	YERAWAR OM SAKHARAM	YEAR	25000
11	SHREE VENKATESHWAR NIDHI		MCA II YEAR II	
11	TRUST	ANJALI B RANANAVARE	SHIFT	31000
12	STUDENT AID	GUPTA NEEL SANTOSH	INFT - II YEAR	15000
	STUDENT AID	GAURAV MANDAL	INFT - II YEAR	15000
	STUDENT AID	SURENDRA VIJAY TOTRE	INFT - II YEAR	15000
	STUDENT AID	CHINMAY G THAKUR	INFT - II YEAR	15000
	STUDENT AID	SHAIKH MOHAMMED AAFTAB SAGIR	INFT - III YEAR	15000
		ROHIT RAMCHAND VADHYA	CMPN - III	
	STUDENT AID	ROHII RAWICHAND VADITIA	YEAR	1500
		WADHWA AYUSH SHANKAR NIKITA MANOJKUMAR SAMTRAI	CMPN - III	
	STUDENT AID		YEAR	1500
		NIKITA MANOIKUMAR SAMTRAI	CMPN - III	
	STUDENT AID		TA MANOJKUMAR SAMTRAI CMPN - III YEAR CMPN - III	1500
		RIYA DINESH MATWANI		
	STUDENT AID		YEAR	1500
	STUDENT AID	SHAIKH MOHAMMED SAAD	EXTC - IV YEAR	1500
	STUDENT AID	JUVERIYA GULAM HUSSAIN KHAN	EXTC - IV YEAR	1500
	STUDENT AID	SHREYA RAVINDRA DHAMANE	EXTC - II YEAR	1500
	STUDENT AID	PRATHMESH MUKUND INDALKAR	EXTC - IV YEAR	1500
	STUDENT AID	KANCHAN BHAGIRATH MANDAL	EXTC - IV YEAR	1500
	STUDENT AID	RAJESH RABINDRA MUNI	ETRX - I YEAR	1500
	STUDENT AID	SIDDHESH PRABHAKAR PATKAR	ETRX - III YEAR	1500
	STUDENT AID	AMRUTLAL SUBHASH RAJBHAR	ETRX - IV YEAR	1500
		PRASHANTH SUBRAMANIAM		
	STUDENT AID	ARUNDUDHIYAR	ETRX - III YEAR	1500
	STUDENT AID	YADAV PRAVIN DEVRAJ	ETRX - III YEAR	1500
	STUDENT AID	KUNAL GOVIND BHOIR	INST - III YEAR	1500
	STUDENT AID	VAIBHAVI VILAS BAGUL	INST - III YEAR	STITUT 1500
	STUDENT AID	SHEETAL PATIL	INST - IV YEAR	1500
	STUDENT AID	KIRTIRAJ DIPAK KHAPE	INST - IV YEAR	1500



	TOTAL	61 STUDENTS	CYS INCOM	1093043
	VIVEKANAND JYOTI	SWATI MISHRA	MCA - III YEAR	25000
	VIVEKANAND JYOTI	PRAJAKTA DILIP GOLE	INFT - IV YEAR	25000
	VIVEKANAND JYOTI	MOHIT SINGH ADHIKARI	EXTC - III YEAR	25000
	VIVEKANAND JYOTI	SHIVSHANKAR POPAT TANWADE	INST - IV YEAR	25000
	VIVEKANAND JYOTI		YEAR	25000
	VIVEKANAND IVOTI	GIRISH PRITAM VASWANI	CMPN - III	
13	VIVEKANAND JYOTI	SIDDHESH SUDHIR MAHADIK	CMPN - III YEAR	25000
	C. COLITI AID	CHANDAN YADAV	MCA - III YEAR	15000
	STUDENT AID	SUNIL GAYKHE	MCA - II YEAR	15000
	STUDENT AID		MCA - II YEAR	15000
	STUDENT AID	PREMKISHNA RAVADA	MCA - II YEAR	15000
	STUDENT AID		MCA - II YEAR	15000
	STUDENT AID	DARSHAN NAIK	MCA - II YEAR	1500
	STUDENT AID	ADARSH RAJU SAWANT	INST - II YEAR	1500
	STUDENT AID	SHIVANGI ANAND	INICT HAVE	_





(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

AY 2019-20

TRUST NAME	NO OF STUDENTS	AMOUNT
VES EDU. FUND	7*15000	105000
VES EDU. FUND	1	12000
VES EDU. FUND	9*7500	67500
JAI CORPO LTD	1	15000
BHARTIYA SINDHU SABHA	1*7500	7500
BHARTIYA SINDHU SABHA	4*15000	60000
SAHAYATA	1	25000
RAMPRAKASH PODAR CHARITABLE TRUST	1	1500
SHRI VENKTESHWAR NIDHI	3*11000	33000
SUFI CHARITABLE TRUST	1	10000
SWAMI SHANTI PRAKASH	1	5000
PRAKASH LULLA	1	5000
VES TRUST	1	10000
SINKHAI FOUNDATION	3*10000	30000
INDIA BULLS FOUNDATION	2*58349	116698
SAI VILAYATRAI SAI JIWAN SINGH	1	25000
SWAMI SHANTI PRAKASH	1	7000
RAGHUKUL SHIKSHAN NIDHI	1	47000
PARPATIBHAI EDANMAL CH. TRUST	2*7500	15000
JANTA JANARDHAN PARISHAD	1	7500
VES EDU. FUND	4*10000	40000
SAI RAM CHARITABLE TRUST	1	10000
	48	654698

TRUST NAME	NO OF STUDENTS	AMOUNT
VES EDU. FUND	1	10000
SEVA SAHAYOG FOUNDATION	1	(410 13 11 15 5 50000



Institute of Technology

	88	1344698
	37	615000
VIVEKANAND JYOTI	6*25000	150000
STUDENT AID	31*15000	465000
	3	75000
VES TRUST	1	15000

SR NO	TRUST NAME	NAME OF STUDENTS	CLASS / DEPARTMEN T	AMO UNT
1	VES EDU. FUND	MAROOF MERCHANT	ET - I YEAR	10000
	VES EDU. FUND	SEEMA VIDHRANI	IT - IV YEAR	10000
	VES EDU. FUND	RESHM VERLIANI	CM - IV YEAR	10000
	VES EDU. FUND	VIKRAM KAMAL VIRWANI	CM - II YEAR	10000
	VES EDU. FUND	YOGESH JESWANI	MCA 3	10000
	VES EDU. FUND	MEGHANA ATHANIKAR	ET - IV YEAR	15000
	VES EDU. FUND	NIDHI SACHDEV	CM - III YEAR	15000
	VES EDU. FUND	ROSHNI KATARIA	CM - II YEAR	15000
	VES EDU. FUND	HARSHITA KUKREJA	ET - II YEAR	15000
	VES EDU. FUND	LAVEEN DAWANI	CM - II YEAR	12000
	VES EDU. FUND	NAVIN H KACHHELA	CM - II YEAR	7500
	VES EDU. FUND	AYUSH WADHWA	CM - II YEAR	7500
	VES EDU. FUND	MURJANI KHUSHBOO MANOJ	CM - IV YEAR	7500
	VES EDU. FUND	ROHRA TAMANNA GHANSHAMDAS	CM - IV YEAR	7500
	VES EDU. FUND	NADAR SAKTHIVEL SELVARAJ		
-	VES EDU. FUND		EL - III YEAR	7500
_		PRAJAKTA GOLE	IT - III YEAR	7500
-	VES EDU. FUND	NISHA PURSWANI	CM - IV YEAR	7500
-+	VES EDU. FUND	BHAVESH TALREJA	CM IV YEAR	7500
	VES EDU. FUND	AKSHAY NAVANI	EM - IV YEAR	7500
	VES EDU. SOC. EDU FUND	RIJHWANI NILESH	CIVI - IN YEAR	15000
	VES EDU. SOC. EDU FUND	MOHIT SINGH ADHIKARI	WET HI YEAR	15000



Institute of Technology

	VES EDU. SOC. EDU FUND	KAPIL SHARMA	IT - III YEAR	15000
2	JAI CORPO LTD	GR 127364		15000
3	BHARTIYA SINDHU SABHA	VIKRAM VIRWANI	CM - II YEAR	7500
4	SAHAYATA	SHAZIA SHAIKH	ET - II YEAR	25000
5	RAMPRAKASH PODAR			
	CHARITABLE TRUST	ANIKET BHADRISH	IS - IV YEAR	1500
6	SHRI VENKTESHWAR NIDHI	AHUJA NIKITA	CM - I YEAR	11000
	SHRI VENKTESHWAR NIDHI	KOMAL ASRANI	CM - I YEAR	11000
	SHRI VENKTESHWAR NIDHI	SAKSHI JAIKISAN GANGWANI	CM - I YEAR	11000
7	SUFI CHARITABLE TRUST	SEEMA VIDHRANI	IT - IV YEAR	10000
8	SWAMI SHANTI PRAKASH	KAPIL SHARMA	IT - III YEAR	5000
9	PRAKASH LULLA	NADAR SAKTHIVEL SELVARAJ	EL - III YEAR	5000
10	BHARTIYA SINDHU SABHA	NIKITA AHUJA	CM - I YEAR	15000
	BHARTIYA SINDHU SABHA	SAKSHI GANGWANI	CM - I YEAR	15000
	BHARTIYA SINDHU SABHA	KOMAL ASRANI	CM - I YEAR	15000
	BHARTIYA SINDHU SABHA	AKSHAY NAVANI	CM - IV YEAR	15000
11	SINKHAI FOUNDATION	DHUMAL RASIKA RAJESH	ET - IV YEAR	10000
	SINKHAI FOUNDATION	PRAJAKTA DEVKAR	ET - IV YEAR	10000
	SINKHAI FOUNDATION	PRATIKSHA KINI	ET - IV YEAR	10000
12	INDIA BULLS FOUNDATION	AMOL SHINDE	EL - IV YEAR	58349
	INDIA BULLS FOUNDATION	ANIKET SALGAONKAR	EL - IV YEAR	58349
13	SWAMI SHANTI PRAKASH	SEEMA VIDHRANI	IT - IV YEAR	7000
14	RAGHUKUL SHIKSHAN NIDHI	KANAIYA KANABAR	IT - I YEAR	47000
15	PARPATIBHAI EDANMAL CH.	NISHA PURSWANI	CM - IV YEAR	7500
•				





Institute of Technology

	TRUST			
	PARPATIBHAI EDANMAL CH.		EXTC - SECOND	
	TRUST	MOHIT ADHIKARI	YEAR	7500
16	JANTA JANARDHAN PARISHAD	NIKITA SAMTRAI	CM - II YEAR	7500
17	SEVA SAHAYOG FOUNDATION	NILESH SHINDW	MCA	50000
18	SAI RAM CHARITABLE TRUST	KAPIL SHARMA	IT - III YEAR	10000
19	SAI VILAYATRAI SAI JIWAN SINGH	SAGAR NARESH SIDHWA	CM - III YEAR	25000
20	VES TRUST	MAROOF MERCHANT	ET - I YEAR	10000
	VES TRUST	ANIKET YADAV	MCA	15000
21		PRAJAKTA GOLE	INFT - THIRD	
	STUDENT AID	FRANKIA GOLE	YEAR	15000
		SHAIKH MD SHERALI MD ZAFIRUL	INFT - SECOND	
	STUDENT AID	START WE STERAL WE ZAT KOL	YEAR	15000
		LATIKA GURNANI	INFT - FOURTH	
	STUDENT AID	EATINA GOMPART	YEAR	15000
		FAYZAAN RAFIQ QURESHI	INFT - SECOND	
	STUDENT AID	TATEART RAFIG GORESHI	YEAR	15000
		KHAN JUVERIYA GULAM HUSSAIN	EXTC - THIRD	
	STUDENT AID	KITAN JOVEKITA GOLANI HUSSAIN	YEAR	15000
		POONAM RAMESH MASAYE	EXTC - THIRD	
	STUDENT AID	FOONAINI RAIVIESH MASATE	YEAR	15000
	555.5555	PRATIKA VITTHAL DHANAWADE	EXTC - FOURTH	
	STUDENT AID	FRANKA VITTHAL DHANAVVADE	YEAR	15000
		SNEHA JANARDAN MAHAKAL	EXTC - FOURTH	
	STUDENT AID	SITE IA JANANDAN WAHAKAL	YEAR	15000
	STUDENT AID	AMRUTA SAKHARAM WARADKAR	EXTC FOURTH	15000



Institute of Technology

			YEAR	
		PRAJAKTA RAMESH DEVKAR	EXTC - FOURTH	
	STUDENT AID	TROAKIA KAMESII DEVKAK	YEAR	15000
		SURAJ RAMA YADAV	MCA - FIRST	
	STUDENT AID	SORAJ RAIVIA IADAV	YEAR	15000
		RAVINDRA NANABHAU AUTI	MCA - THIRD	
	STUDENT AID	RAVINDRA NANABHAU AUTI	YEAR	15000
		VICUAL NAIK	MCA - FIRST	
	STUDENT AID	VISHAL NAIK	YEAR	15000
		CURENDO A VIIIAV TOTOS	INFT - FIRST	
	STUDENT AID	SURENDRA VIJAY TOTRE	YEAR	15000
			INFT - FIRST	
	STUDENT AID	SARABH RATENDRA BORAWAKE	YEAR	15000
			INST - FOURTH	
	STUDENT AID	SHUBHAM MATEKAR	YEAR	15000
			INST - SECOND	
	STUDENT AID	PRACHAY PRAKASH KADAM	YEAR	15000
			INST - SECOND	
	STUDENT AID	MAYUR MANE	YEAR	15000
			INST - SECOND	13000
	STUDENT AID	SUNNY SHIVAJI KADAM	YEAR	15000
			INST - SECOND	13000
	STUDENT AID	VAIBHAVI VILAS BAGUL	YEAR	15000
	5.052.117.115		INST - THIRD	13000
	STUDENT AID	SHIVSHANKAR P TANWADE	YEAR	15000
	310DENT AID		CMPN - FOURTH	13000
	STUDENT AID	NISHA PURSWANI		15000
	STODENT AID		YEAR	15000
	STUDENT AID	OM SAKHARAM YERAWAR	CMPN - SECOND	
	STODENT AID		YEAR	15000
	STUDENT AID	NILESH PARSHOTAM RIJHWANI	CMPN - SECOND	
	STUDENT AID		YEAR	15000
	STUDENT AID	BHAVESHA TALREJA	CMPN - FOURTH	45000
 	STUDENT AID		YEAR	15000
	CTUDENT AID	VADHYA ROHIT RAMCHAND	CMPN - SECOND	
	STUDENT AID		YEAR	15000
		DIVYA KALWANI	CMPN - THIRD	The same of the sa
	STUDENT AID		YEAR	15000
		VANSHIKA MAKHIJA	CMPN-THIRD	13/
	STUDENT AID	Transition in the initial initial in the initial in	YEAR 1000	15000
	STUDENT AID	YOGESH TEKWANI	CMPN THIRD	15000
		-		8/



		T	
		YEAR	
	AMRITI AI RAIRHAR	ETRX - THIRD	
STUDENT AID	AWINO TEAE RABBIAR	YEAR	15000
	MOHITSINGH ADHIKARI	EXTC - SECOND	
STUDENT AID	MONTSINGIT ADMIRANT	YEAR	15000
	AKSHAY MOHITE	CMPN - FOURTH	
VIVEKANAND JYOTI	AKSHAT MOHITE	YEAR	25000
	KIRTIRA I DIDAK KHADE	INST - THIRD	
VIVEKANAND JYOTI	KIKTIKAS BIFAK KHAFE	YEAR	25000
	SIDDHESH MAHADIK	ETRX - THIRD	
VIVEKANAND JYOTI	SIDDITESTI WAHADIK	YEAR	25000
	CHANDAN RAM ACHHAIBAR	MCA - SECOND	
VIVEKANAND JYOTI	YADAV	YEAR	25000
	DHIDAT ASMANII	INFT - FOURTH	
VIVEKANAND JYOTI	DHIRAJ ASWANI	YEAR	25000
	DRADVIIMAN CIDI	EXTC - THIRD	
VIVEKANAND JYOTI	PRADIOWAN GIRI	YEARAMO	25000
		STUDENT AID MOHITSINGH ADHIKARI VIVEKANAND JYOTI DHIRAJ ASWANI	STUDENT AID STUDENT AID MOHITSINGH ADHIKARI VIVEKANAND JYOTI DHIRAJ ASWANI VIVEKANAND JYOTI PRADYUMAN GIRI EXTC - SECOND YEAR INFT - FOURTH YEAR EXTC - THIRD YEAR EXTC - THIRD



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

AY 2018-19

TRUST NAME	NO OF STUDENTS	AMOUNT
AKHIL BHARTIYA MAHILA		
SEVA TRUST	1*20000	20000
BHARTIYA SINDHU		20000
SABHA	6*15000	90000
BHARTIYA SINDHU		30000
SABHA	2*7500	15000
IAI CORPORATION	2*15000	30000
KHIMJI BHAGWANDAS		30000
CH.TRUST	1*52718	52718
KISHIN JAGWANI	1*10000	10000
AL MALKANI EDU CHA		10000
RUST	1*25000	25000
MAKE PROUD		25000
OUNDATION	2*2000	4000
ITOYL MHO		4000
PRGANISATION	1*106781	106781
ARPATIBHAI EDANMAL		100781
H. TRUST	1*10000	10000
AM PRAKASH PODAR		10000
H. TRUST	1*1400	1400
AHAYATA	1*25000	25000
AHAYOG	1*15000	75000
AI RAM CHARITABLE		OF #5000
RUST	1*10000	10000
AIVILAYATRAI SAI		15 25
WATSINGH	1*25000	25000
NKHANI FOUNDATION	3*10000	39000
JFI TR BOMBAY TRUST	1*10000	10000
JMAN RAMESH		10000
JLSIANI	1*10000	10000



	61	984899
TESTANE EBOTOND	2*10000	20000
VES WELFARE EDU FUND	2*10000	7,300,000
VES EDUCATION FUND	28*15000	420000
VES TRUST	1*15000	15000
PRAKASH	1*10000	10000
SWAMI SHANTI		30000
SUNDER SHEWAK SABLA	1*30000	30000

TRUST NAME	NO OF STUDENTS	AMOUNT
INDIA BULLS	2*76454	152908
MANJU VINOD ASRANI		132900
TRUST	1*11000	11000
PARPATIBHAI EDANMAL		11000
CH. TRUST	1*7500	7500
VES EDUCATION FUND	1*15000	15000
	5	186408
STUDENT AID	31*15000	465000
STUDENT AID	1*6500	6500
VIVEKANAND JYOTI	6*25000	150000
	38	621500
	104	CHEMBUR 1792807



Institute of Technology

1 KHIMJI BHAGW CH.TRUST 2 VES EDUCATION	МЕ	STUDENT NAME	CLASS / DEPARTMENT	AMOU NT
CH.TRUST VES EDUCATION	ANDAS			
VES EDUCATION		PAYAL POPAT	INFT - IV YEAR	52718
VES EDUCATION	FUND	MOHIT SINGH H ADHIKARI	ET - I YEAR	15000
VES EDUCATION	FUND	DIVYA KALWANI	CM - II YEAR	15000
VES EDUCATION	FUND	NILESH P RIJHWANI	CM - II YEAR	15000
VES EDUCATION	FUND	HARSHITA KUKREJA	ET - I YEAR	15000
VES EDUCATION	FUND	ATHANIKAR MEGHANA	ET - II YEAR	15000
VES EDUCATION	FUND	THAKUR YOGITA	ET - IV YEAR	15000
VES EDUCATION	FUND	VIKRAM VIRWANI	CM - I YEAR	15000
VES EDUCATION	FUND	SIMRAN BHOJWANI	IT - IV YEAR	15000
VES EDUCATION	FUND	BIGNESHWAR MOHANTY	ET - IV YEAR	15000
VES EDUCATION	FUND	MAYUR LUND	IT - IV YEAR	15000
VES EDUCATION	FUND	SAKTHIVEL S NADAR	EL - II YEAR	15000
VES EDUCATION	FUND	ANJALI HASSANI	CM - II YEAR	15000
VES EDUCATION	FUND	MOHIT KHITANI	CM - IV YEAR	15000
VES EDUCATION	FUND	SHAILESH KUMAR YADAV	ET - IV YEAR	15000
VES EDUCATION	FUND	VIJAY JAISWAL	ET - IV YEAR	15000
VES EDUCATION	FUND	NAMRATA DIALANI	ET - IV YEAR	15000
VES EDUCATION	FUND	NIKITA GURNANI	ET - IV YEAR	15000
VES EDUCATION	FUND	PRAVEEN DANGWANI	IT - IV YEAR	15000
VES EDUCATION	FUND	MAHEK TARDEJA	ET - I YEAR	15000
VES EDUCATION VES EDUCATION VES EDUCATION VES EDUCATION VES EDUCATION VES EDUCATION	FUND	TAMANNA ROHRA	CM - III YEAR	15000
VES EDUCATION VES EDUCATION VES EDUCATION VES EDUCATION VES EDUCATION	FUND	LATESH KAKRAI	ET - III YEAR	15000
VES EDUCATION VES EDUCATION VES EDUCATION VES EDUCATION	FUND	MURJANI KHUSHBOO	CM - III YEAR	15000
VES EDUCATION VES EDUCATION VES EDUCATION	FUND	NISHA KATARIA	CM - IV YEAR	15000
VES EDUCATION I VES EDUCATION I	FUND	SEEMA VIDHRANI	IT - III YEAR	
VES EDUCATION I	UND	SAGAR MADNANI	CM - IV YEAR	15000
VES EDUCATION I	UND	TALREJA ROSHAN	CM - IV YEAR	15000
VES EDUCATION		HARSHA VIDHRANI		15000
		MAHIMA MOTWANI	CM IV YEAR	15000
VES EDUCATION		YOGESH JESWANI	CM - IV YEAR	15000
3 MANJU VINOD ASRA		RAHUL RAI	MCA MCA	15000 11000



3	VES TRUST	BIGNESHWAR MOHANTY	ET - IV YEAR	15000
_	VES TRUST	DANGWANI PRAVEEN	IT - IV YEAR	15000
4	VES WELFARE EDU FUND	SHAILESHKUMAR N YADAV	ET - IV YEAR	10000
_	VES WELFARE EDU FUND	BIGNESHWAR MOHANTY	ET - IV YEAR	10000
5	SUNDER SHEWAK SABLA	DIVYA KALWANI	CM - II YEAR	30000
6	SUMAN RAMESH TULSIANI	DIVYA KELWANI	CM - II YEAR	10000
7	MAKE PROUD FOUNDATION	SAAD SAJID GAZALA	ET - IV YEAR	2000
8	Ohm Jyoti Organisation	VIGHNESH PILLAI	IT - II YEAR	106781
9	SUFI TR BOMBAY TRUST	SAGAR MADNANI	CM - IV YEAR	10000
10	SAHAYOG	MOMIN NAVED NADIM	ET - II YEAR	15000
11	AKHIL BHARTIYA MAHILA SEVA TRUST SAIVILAYATRAI SAI	KARWA RADHIKA JITENDRA ANITA	IT - IV YEAR	20000
12	JIWATSINGH	SIDHWA SAGAR NARESH	IT - II YEAR	25000
13	BHARTIYA SINDHU SABHA	NAVANI AKSHAY SUNIL	CM - III YEAR	15000
	BHARTIYA SINDHU SABHA	HARSHA VIDHRANI	CM - IV YEAR	15000
	BHARTIYA SINDHU SABHA	AHUJA CHETAN D	EL - I YEAR	7500
	BHARTIYA SINDHU SABHA	VIRWANI VIKRAM	CM - I YEAR	7500
	BHARTIYA SINDHU SABHA	DANGWANI PRAVEEN	IT - IV YEAR	15000
	BHARTIYA SINDHU SABHA	BATHANI AJAY	CM - II YEAR	15000
	BHARTIYA SINDHU SABHA	KHITHANI MOHIT RAJESH	CM - IV YEAR	15000
	BHARTIYA SINDHU SABHA	MITESH METHANI	CM - IV YEAR	15000
15	SAI RAM CHARITABLE TRUST	KAPIL G SHARMA	IT - II YEAR	10000
16	RAM PRAKASH PODAR CH. TRUST	ANIKET BHADRICHA	INST - III YEAR	1400
17	SINKHANI FOUNDATION	KINI PRATIKSHA	ET - III YEAR	10000
	SINKHANI FOUNDATION	MANE KIRTEE	ET - III YEAR	
	SINKHANI FOUNDATION	DEVEKAR PRAJAKTA	ET - III YEAR	10000
18	SWAMI SHANTI PRAKASH	KAPIL G SHARMA	IT - II YEAR	10000
19	PARPATIBHAI EDANMAL CH. TRUST	PRAVEEN DANGWANI	IT - IV YEAR	10000
20	KISHIN JAGWANI	YASH JAWRANI	INST SUI YEAR	10000
21	LAL MALKANI EDU CHA TRUST	RAJANI KAJAL	D17B	25000
22	SAHAYATA	SHAIKH SHAZIA IMRAN	ETYEAR	1211
23	JAI CORPORATION	MIHIRSINGH PARMAR	CMPNIJSMISM	25000 15000
		The second control of	CINGCINETIZED 23	12000



24	MAKE PROUDE FOUNDATION	ANSARI SAAD SAJID	D19C	2000
26	PARPATIBHAI EDANMAL CH.	THE STATE STATE	DISC	2000
	TRUST	RAHUL RAI	MCA	7500
27	INDIA BULLS	AJAY PRAJAPATI	MCA	76454
	INDIA BULLS	PARVEZ MULLA	MCA	76454
25	VIVEKANAND JYOTI	AMOL SHINDE	ETRX	25000
	VIVEKANAND JYOTI	KOMAL BABAYYA SILMULA	MCA	25000
	VIVEKANAND JYOTI	DEEPTI SADASHIV NIMBALKAR	EXTC	25000
	VIVEKANAND JYOTI	SIMRAN BHOJWANI	INFT	25000
	VIVEKANAND JYOTI	KAJAL SONAWNAE	CMPN	25000
	VIVEKANAND JYOTI	PRATIKSHA SANJAY JOSHI	INST	25000
26	STUDENT AID	28*15000	LIST ATTACHED BELOW	420000
	STUDENT AID	MOHIT MAKHIJA	CMPN D12B	6500
27	SUMAN RAMESH TULSIANI	ABDUL BASIT ANSARI	MCA	10000
	SUMAN RAMESH TULSIANI	VISHAL GUPTA	MCA	10000
	SUMAN RAMESH TULSIANI	JYOTI CHAUHAN	MCA	10000
	SUMAN RAMESH TULSIANI	AJAY BIRAJDAR	MCA	10000
	SUMAN RAMESH TULSIANI	SHUBHAM KAMALAPURE	MCA	10000
	SUMAN RAMESH TULSIANI	SAMEER YADAV	MCA	10000
	SUMAN RAMESH TULSIANI	PRADEEP BORA	MCA	10000
	SUMAN RAMESH TULSIANI	SIDDHANT SHINDE	MCA	10000
	SUMAN RAMESH TULSIANI	MAHESH BHOSALE	MCA	10000
	SUMAN RAMESH TULSIANI	SANKET PATIL	MCA	10000
	SUMAN RAMESH TULSIANI	AJAY NAIR	MCA	10000
	SUMAN RAMESH TULSIANI	OMKAR DESHMUKH	ETRX	10000
	SUMAN RAMESH TULSIANI	ASHISH PATIL	ETRX	10000
	SUMAN RAMESH TULSIANI	DIPTI ANNARAO SURYAWANSHI	ETRX	10000
	SUMAN RAMESH TULSIANI	DHAVALKUMAR RAJESH PANCHAL	ETRX	10000
	SUMAN RAMESH TULSIANI	MOHINI BATRA	ETRX	10000
	SUMAN RAMESH TULSIANI	TEJASHREE KISHOR KHIRAWADE	ETRX ************************************	10000
	SUMAN RAMESH TULSIANI	KAJAL RAGHUNATH GHADGE	ETRX	10000
	SUMAN RAMESH TULSIANI	BIBISHAN CHAUDHARI	ETRX	10000
T	SUMAN RAMESH TULSIANI	ANIKET SALGAONKAR	ETRX	10000



Institute of Technology

SUMAN RAMESH TULSIANI	SIDDESH SUDHIR MAHADIK	ETRX	10000
SUMAN RAMESH TULSIANI	SNEHA JANARDAN MAHAKAL	EXTC	10000
SUMAN RAMESH TULSIANI	POONAM RAMESH MASAYE	EXTC	10000
SUMAN RAMESH TULSIANI	DISHANT DEVANAND GAVKAR	EXTC	10000
SUMAN RAMESH TULSIANI	DEVKAR PRAJAKTA RAMESH	EXTC	10000
SUMAN RAMESH TULSIANI	CHAVAN KIRAN SUBHASH	EXTC	10000
SUMAN RAMESH TULSIANI	BUCHADE NILESH SUNIL	EXTC	10000
SUMAN RAMESH TULSIANI	KAJAL BALRAM SHARMA	EXTC	10000
SUMAN RAMESH TULSIANI	PRATIK SANJAY MORE	EXTC	10000
SUMAN RAMESH TULSIANI	PRAVIN R MANKAR	EXTC	10000
SUMAN RAMESH TULSIANI	PRATHMESH MUKUND INDALKAR	EXTC	10000
SUMAN RAMESH TULSIANI	POONAM SHAHADEV CHANNE	EXTC	10000
SUMAN RAMESH TULSIANI	SHAILESHKUMAR NAVMIPRASAD YADAV	EVTC	22/24/24/24
SUMAN RAMESH TULSIANI	ASHISH DASHRATH YADAV	EXTC	10000
SUMAN RAMESH TULSIANI	NIKHIL BABAN GUNJAL		10000
SUMAN RAMESH TULSIANI	KANCHAN BHAGIRATH MANDAL	EXTC	10000
SUMAN RAMESH TULSIANI	SIDDHESH ARUN HINDLEKAR	EXTC	10000
SUMAN RAMESH TULSIANI	SAGAR BABURAO GAWADE	EXTC	10000
SUMAN RAMESH TULSIANI	KIRTEE TATYASAHEB MANE	EXTC	10000
SUMAN RAMESH TULSIANI	AKSHAY BANSIDHAR YADAV	EXTC	10000
	BIGNESHWAR BHAGABAN		10000
SUMAN RAMESH TULSIANI	MOHANTY SANKET BANSILAL EKHANDE	EXTC	10000
SUMAN RAMESH TULSIANI	SIMRAN ADAM DANGE	EXTC	10000
SUMAN RAMESH TULSIANI	WILSON DAVID ALEN	EXTC	10000
SUMAN RAMESH TULSIANI		EXTC	10000
SUMAN RAMESH TULSIANI	KALPESH ULHAS KOLHE	EXTC	10000
SUMAN RAMESH TULSIANI	PRADYUMAN SUBHASH GIRI	EXTC	10000
SUMAN RAMESH TULSIANI	AMAR RAMKARAN PAL	EXTC	10000
SUMAN RAMESH TULSIANI	RAMCHANDRA VISHNU WADKAR	EXTC	10000
SUMAN RAMESH TULSIANI	NAMRATA RAMCHANDANI	EXTC	10000
SUMAN RAMESH TULSIANI	SUPRIYA GAIKWAD	EXTC	TETY'S 10000
SUMAN RAMESH TULSIANI	SONALI GAUTAM PAWAR	EXTC (8)	10000
SUMAN RAMESH TULSIANI	YOGESH LULLA	INFT S	10000
SUMAN RAMESH TULSIANI	RUCHITA YEOLE	INFT INFT	10000
		1	1501



Institute of Technology

(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra

SUMAN RAMESH TULSIANI	RADHIKA KARWA	INFT	10000
SUMAN RAMESH TULSIANI	PRANALI PATIL	INFT	10000
SUMAN RAMESH TULSIANI	DEEPESH HARYANI	INFT	10000
SUMAN RAMESH TULSIANI	SAYALI SANTOSH PANCHAL	CMPN	10000
SUMAN RAMESH TULSIANI	YOGITA JETHANI	CMPN	10000
SUMAN RAMESH TULSIANI	HARSHA PUNJABI	CMPN	10000
SUMAN RAMESH TULSIANI	NITIN TEJUJA	CMPN	10000
SUMAN RAMESH TULSIANI	MOHD DANISH NAZIR AHMAD	CMPN	10000
SUMAN RAMESH TULSIANI	NILESH RIJHWANI	CMPN	10000
SUMAN RAMESH TULSIANI	AJAY LAKHMICHAND BATHANI	CMPN	10000
SUMAN RAMESH TULSIANI	SHILPA MAHENDRA VAISH	CMPN	10000
SUMAN RAMESH TULSIANI	VERLIANI RESHAM SUNIL	CMPN	10000
SUMAN RAMESH TULSIANI	JIGAR AJMERA	CMPN	10000
SUMAN RAMESH TULSIANI	SHITAL BHARAT TUPE	CMPN	10000
SUMAN RAMESH TULSIANI	BHAVESHA TALREJA	CMPN	10000
SUMAN RAMESH TULSIANI	SIDDHESH YASHWANT HADKAR	CMPN	10000
SUMAN RAMESH TULSIANI	KAMAL TECKCHANDANI	CMPN	10000
SUMAN RAMESH TULSIANI	PATIL SHEETAL RAMESH	INST	10000
SUMAN RAMESH TULSIANI	KIRTIRAJ DIPAK KHAPE	INST	10000
SUMAN RAMESH TULSIANI	DHANRAJ KATKAR	INST	10000
SUMAN RAMESH TULSIANI	PRATIK MAJALKAR	INST	10000
SUMAN RAMESH TULSIANI	SHIVSHANKAR POPAT TANWADE	INST	10000
SUMAN RAMESH TULSIANI	NAVIN NARSING SABBAN	INST	10000
SUMAN RAMESH TULSIANI	PALLAVI SURESH PATIL	INST	10000
SUMAN RAMESH TULSIANI	SHIVSHANKAR BHAGABAN SAHU	INST	10000
SUMAN RAMESH TULSIANI	NIKHIL SONAWALE	INST	10000
SUMAN RAMESH TULSIANI	SHUBHAM MATEKAR	INST	10000
SUMAN RAMESH TULSIANI	PRABHAKAR SHIVLAL CHAUBEY	INST CATION	10000
SUMAN RAMESH TULSIANI	TEJASHREE ANANT BHITALE	INST My CHE	10000
SUMAN RAMESH TULSIANI	PRAJAKTA DEEPAK DHOPAT	INST	10000
		13 70	40. 1.

STUDENT AID



No	Name	Branch / Year / Semester / Division	
1	NISHA PURSWANI	CMPN / Third Year / V / C Division (D12C)	
2	BHAVIKA SHAHANI	INFT / Fourth Year / VII / D20	
3	PRIYA JETHMALANI	CMPN / Fourth Year / VII / C Division (D17C)	
4	AKSHAY KRUSHNAT MOHITE	CMPN / Third Year / V / B Division (D12B)	
5	KANCHAN ASHOK YEVALE	MCA / Third Year / V / Evening	
6	SHRADDHA MANJUNATH PRABHU	MCA / Third Year / V / Evening	
7	KHAN JUVERIYA GULAM HUSSAIN	EXTC / Second Year / III / C Division (D9C)	
8	SHAHIKANT SANTOSH ALHAT	FE / D1A	
9	ABHINAV SUDARSHAN SHARMA	INST / Fourth Year / VII	
10	NALINI PRAKASH DAREKAR	EXTC / Second Year / III / C Division (D9C)	
11	KAPIL GIRDHARI SHARMA	INFT / Second Year / III / D10	
12	NISHA KATARIA	CMPN / D17A	
13	RAVINDRA AUTI	MCA/Second Year/2nd	
14	NEHA BABURAO SUTAR	INST / Second Year / III	
15	HEMA HARESH LULLA	INFT / Fourth Year / VII / D20	
16	ASHISHKUMAR DILIP GUPTA	MCA / Second Year / III / Evening	
17	PRAVIN YADAV	FE / D1B	
18	PRANIT SHIVDAS NAIK	CMPN / Third Year / V / B Division (D12B)	
19	HARISH YADAV	ETRX/D16A	
20	HARSH SINGH	INFT / Third Year / V / D15	
21	KARAN HOTWANI	INFT / Fourth Year / VII / D20	
22	LATIKA PRAKASH GURNANI	INFT / Third Year / V / D15	
23	TUSHAR ASHOK CHOTLANI	CMPN / Fourth Year / VII / A Division (D17A)	
24	NISHA KHUBCHANDANI	INFT / Fourth Year / VII / D20	
25	PRATISHKUMAR SINGH	MCA / Third Year / V / Morning	
26	JYOTI TEJWANI	CMPN / Fourth Year / VII / C Division (D17C)	
27	SHERALI SHAIKH	FE / D5	
28	BALAJI KRISHNAN	FE / D1B	
29	PRIYA DILIPVIDHRANI	INFT / Fourth Year / VII / D20	
30	PRAJAKTA	INFT / Second Year / III / D10	
31	SAGAR BHOJANE	EXTC / Fourth Year / VII / B Division (D19B)	



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

AY 2017-18

TRUST NAME	NO. OF STUDENT	AMOUNT
SWAMI SHEWADAS CHARITABLE TRUST	1 student	5000
SAI RAM CHARITABLE TRUST	2*5000	10000
SMT. DAYALIBAI R GURUNANAK DARBAR	1 student	11000
R R M FOUNDATION	1 student	1000
SHREE MOTUMAL DWARKADAS AHUJA TRUST	1 student	20000
VES EDUCATION SOCIETY EDUCATION FUND	15*15000	225000
PARPATIBAI EDANMAL DASWANI CHARITABLE TRUST	4*10000	40000
SUNNI WELFARE & EDUCATION TRUST	1 student	25000
BHARTIYA SINDHU SABHA	5*15000	75000
THE SUFI TRUST BOMBAY	2*5000	10000
RAMPRAKASH POTDAR CHARITABLE TRUST	1 student	1200
CAPITAL FIRST LIMITED	1 student	100000
SETH MORARAJI KANJI CHARITABLE TRUST	1 student	1500
JANTA J PARISHAD	1 student	5000
AKHIL BHARTIYA MAHILA SEWA TRUST	1 student	20000
NIHCHAL ISRANI FOUNDATION	12 Students	120000
SHETH MORARJI KANJI CHARITABLE TRUST	1 student	3000
FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST	1 student	60000
SUMAN RAMESH TULSIANI TRUST	95 Students	855000
SINKHAI FOUNDATION	1 student	10000
SAI VILAYTRAI SAI JIWASTSINGH S V	1 student	15000
SAI RAM CHAIRTABLE TRUST	1 student	5000
VES EDUCATION SOCIETY EDUCATION FUND	5*15000	75000
VES EDUCATION SOCIETY EDUCATION FUND	2*30000	60000
VES EDUCATION SOCIETY EDUCATION FUND	2*10000	INSTITUTE 20000
VES EDUCATION SOCIETY EDUCATION FUND	1*5000	5000 Sept 10 10 10 10 10 10 10 10 10 10 10 10 10
VES EDUCATION SOCIETY EDUCATION FUND	2*7500	15000
SWAMI SHANTI PRAKASH FOUNDATION	1 student	5000



Institute of Technology

GURU NANAK	1 student	4116
	165 students	1801816

TRUST NAME	NO. OF STUDENT	AMOUNT
VES EDUCATION SOCIETY EDUCATION FUND	1 student	15000
SETH HIRACHAND GUMANI JAIN BOARDING SCHOOL TRUST	1 student	4000
	2 Students	19000

	36 students	600000
VIVEKANAND JYOTI	6*25000	150000
STUDENT AID	30*15000	450000

201 STUDENTS	2420816
--------------	---------

SR NO	TRUST NAME	STUDENT NAME	CLASS/YE AR	AMOU NT
1	SWAMI SHEWADAS CHARITABLE TRUST	SAGAR SACHDEV	CM - IV YEAR	5000
2	SAI RAM CHARITABLE TRUST	VINAY BHAGWANI	ET - IV YEAR	5000
	SAI RAM CHARITABLE TRUST	JAI JETHMALANI	EXTC	5000
3	SMT. DAYALIBAI R GURUNANAK DARBAR	VINAY BHAGWANI	ET - IV YEAR	11000
4	R R M FOUNDATION	VINAY BHAGWANI	ET - IV YEAR	1000
5	SHREE MOTUMAL DWARKADAS AHUJA TRUST	VINAY BHAGWANI	ET - IV YEAR	20000
6	VES EDUCATION SOCIETY EDUCATION FUND	KARAN RUPRE	CM - I YEAR	15000
	VES EDUCATION SOCIETY EDUCATION FUND	DHIRAJ KESHWANI	CM - I YEAR	15000
	VES EDUCATION SOCIETY EDUCATION FUND	PRAVEEN DANGWANI	IT - JII YEAR	15000
	VES EDUCATION SOCIETY EDUCATION FUND	ASHITOSH JOSHI	ET : IV YEAR	15000



Institute of Technology

1	VES EDUCATION SOCIETY	IEWEL MURRANI	CM - IV	
	EDUCATION FUND	JEWEL MURPANI	YEAR	15000
	VES EDUCATION SOCIETY	RUCHITA YEOLE		
	EDUCATION FUND	ROCHIIA TEOLE	IT - III YEAR	15000
1	VES EDUCATION SOCIETY	SAGAR SACHDEV	CM - IV	
_	EDUCATION FUND	SAGAN SACHDEV	YEAR	15000
1	VES EDUCATION SOCIETY	VIDHRANI PRIYA		
-	EDUCATION FUND	VIDINANTANIA	IT - III YEAR	15000
1	VES EDUCATION SOCIETY	HEMA LULLA		
<u> </u>	EDUCATION FUND	TIEMA LOLLA	IT - III YEAR	15000
1	VES EDUCATION SOCIETY	SUBHDRA JAISINGHANI	CM - IV	
<u> </u>	EDUCATION FUND	ood in the same of	YEAR	15000
1	VES EDUCATION SOCIETY	NIDHI SACHDEV		
	EDUCATION FUND		CM - I YEAR	15000
1	VES EDUCATION SOCIETY	SAKTHIVEL NADAR	-	
	EDUCATION FUND		EL - I YEAR	15000
1	VES EDUCATION SOCIETY	SHAILESH KUMAR YADAV		
_	EDUCATION FUND		ET - III YEAR	15000
ı	VES EDUCATION SOCIETY EDUCATION FUND	NIKITA GURNANI		
\vdash	VES EDUCATION SOCIETY		ET - III YEAR	15000
l	EDUCATION SOCIETY	NAMRATA DIAIANI		
\vdash	VES EDUCATION SOCIETY		ET - III YEAR	15000
l	EDUCATION SOCIETY	JUHII PARSWANI	l	
\vdash	PARPATIBAI EDANMAL DASWANI		IT - IV YEAR	15000
7	CHARITABLE TRUST	PRAVEEN DANGWANI	l	
\vdash	PARPATIBAI EDANMAL DASWANI		IT - III YEAR	10000
l	CHARITABLE TRUST	BIGNESHWAR MOHANTY		
	PARPATIBAI EDANMAL DASWANI		ET - III YEAR	10000
l	CHARITABLE TRUST	HARSHA VIDHRANI	CM - III	
_	PARPATIBAI EDANMAL DASWANI		YEAR	10000
	CHARITABLE TRUST	VINAY BHAGWANI		
	SUNNI WELFARE & EDUCATION		ET - IV YEAR	10000
8	TRUST	SHAIKH ABDUL GAM	FT 11/1/545	
9	BHARTIYA SINDHU SABHA	DDAVEEN DANGMANI	ET - IV YEAR	25000
		PRAVEEN DANGWANI	IT - III YEAR	15000
	BHARTIYA SINDHU SABHA	NAMRATA DIAIANI	ET - III YEAR	15000
	BHARTIYA SINDHU SABHA	NIDHI A SACHDEV	CM - I YEAR	15000
	BHARTIYA SINDHU SABHA	VINAY BHAGWANI	ET - IV YEAR	TE 0/15000
	BHARTIYA SINDHU SABHA	SAGAR SACHDEV	CM - W	15000
			1/2/	53- 10



Institute of Technology

THE SUFI TRUST BOMBAY SHUBHAM MADHAVI 11 RAMPRAKASH POTDAR CHARITABLE TRUST CHARITABLE TRUST 12 CAPITAL FIRST LIMITED SETH MORARAJI KANJI CHARITABLE TRUST 13 SETH MORARAJI KANJI CHARITABLE TRUST 14 JANTA J PARISHAD MANGTANI TARUN 15 AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION NIHCHAL ISRANI FOUN				1	T
THE SUFI TRUST BOMBAY THE SUFI TRUST BOMBAY THE SUFI TRUST BOMBAY THE SUFI TRUST BOMBAY SHUBHAM MADHAVI ET - II YEAR THE SUFI TRUST BOMBAY THE SUFI TRUST ANIKET HADNICHA CM - I YEAR 12 THE SUFI TRUST LIMITED VRUSHALI PINGLE T ET - III YEAR 13 SETH MORARAJI KANJI CHARITABLE TRUST SAGAR GAWDE D ET - III YEAR 15 AKHIL BHARTIYA MAHILA SEWA TRUST RADHIKA KARWA TH - III YEAR 200 TH - III YEAR TRUST RADHIKA KARWA TH - III YEAR TH - II		-		YEAR	-
THE SUFI TRUST BOMBAY 11 RAMPRAKASH POTDAR CHARITABLE TRUST 12 CAPITAL FIRST LIMITED 13 SETH MORARAJI KANJI CHARITABLE TRUST 14 JANTA J PARISHAD 15 AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION NIHCHAL IS	10	THE SUFI TRUST BOMBAY	SAGAR SACHDEV		5000
11 RAMPRAKASH POTDAR CHARITABLE TRUST 12 CAPITAL FIRST LIMITED 13 SETH MORARAJI KANJI 14 JANTA J PARISHAD 15 AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION NIH			SHUBHAM MADHAVI		5000
CHARITABLE TRUST 12 CAPITAL FIRST LIMITED 13 SETH MORARAJI KANJI 14 JANTA J PARISHAD 15 AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION SAGAR SURESH MADNANI T.E/ETRX 1000 NIHCHAL ISRANI FOUNDATION SAGAR SURESH MADNANI T.E/ETRX 1000 NIHCHAL ISRANI FOUNDATION SAGAR SURESH MADNANI T.E/ETRX 1000 NIHCHAL ISRANI FOUNDATION SUSHANT VIJAY SHELAR T.E./EXTC 1000 NIHCHAL ISRANI FOUNDATION SUBAN FABBALI TAMBE MCA 1000				LITTEAK	3000
13 SETH MORARAJI KANJI 14 JANTA J PARISHAD MANGTANI TARUN ET - IV YEAR 50 15 AKHIL BHARTIYA MAHILA SEWA TRUST RADHIKA KARWA IT - III YEAR 2001 16 NIHCHAL ISRANI FOUNDATION SAGAR SIDHWA FE / DZA 1001 NIHCHAL ISRANI FOUNDATION VARUN ROCHWANI FE / DZB 1001 NIHCHAL ISRANI FOUNDATION DHANASHREE SHETTY FE / DZB 1001 NIHCHAL ISRANI FOUNDATION KAWANA DIVYA RAJESH FE / D5 1001 NIHCHAL ISRANI FOUNDATION LABANA DEVENDRA SINGH FE / D4B 1001 NIHCHAL ISRANI FOUNDATION SANKALP DINANATH TRIPATHI T.E./ETRX 1001 NIHCHAL ISRANI FOUNDATION MADHAV AGARWAL T.E./ETRX 1001 NIHCHAL ISRANI FOUNDATION SANKALP DINANATH TRIPATHI T.E./ETRX 1001 NIHCHAL ISRANI FOUNDATION SAGAR SURESH MADNANI T.E./CMPN 1001 NIHCHAL ISRANI FOUNDATION SUSHANT VIJAY SHELAR T.E./EXTC 1001 NIHCHAL ISRANI FOUNDATION SUPRIYA BABAJI TAMBE MCA 1001 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1001 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1001 17 SHETH MORARII KANJI PRATIKSHA KINI ET - II YEAR 301 18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST PATIKSHA KINI ET - II YEAR 301 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 901	11	CHARITABLE TRUST	ANIKET HADNICHA	CM - I YEAR	1200
13 CHARITABLE TRUST 14 JANTA J PARISHAD 15 AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION NIHCHAL ISRANI FO	12	CAPITAL FIRST LIMITED	VRUSHALI PINGLE T	ET - III YEAR	100000
CHARITABLE TRUST 14 JANTA J PARISHAD 15 AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION SUPRIYA BABAJI TAMBE MCA 1000 MCA 1000 17 CHARITABLE TRUST PRATIKSHA KINI ET - IV YEAR 6000 GHOLE AROOSA NASIR R ET - IV YEAR 6000 SUMAN RAMESH TULSIANI TRUST NIHARIKA RAI FE 900 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 900 SUMAN RAMESH TULSIANI TRUST VARNIN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARNIN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARNIN ROCHWANI FE 900	13		SAGAR GAWDE D		
AKHIL BHARTIYA MAHILA SEWA TRUST AKHIL BHARTIYA MAHILA SEWA TRUST 16 NIHCHAL ISRANI FOUNDATION NIHCHAL ISRANI FE 900 SUMAN RAMESH TULSIANI TRUST VANSHIKA RANI FE 900 SUMAN RAMESH TULSIANI				ET - III YEAR	1500
15 TRUST RADHIKA KARWA IT - III YEAR 2001 16 NIHCHAL ISRANI FOUNDATION SAGAR SIDHWA FE / D2A 1001 NIHCHAL ISRANI FOUNDATION VARUN ROCHWANI FE / D2C 1001 NIHCHAL ISRANI FOUNDATION DHANASHREE SHETTY FE / D2B 1001 NIHCHAL ISRANI FOUNDATION KAWANA DIVYA RAJESH FE / D5 1000 NIHCHAL ISRANI FOUNDATION LABANA DEVENDRA SINGH FE / D4B 1000 NIHCHAL ISRANI FOUNDATION SANKALP DINANATH TRIPATHI T.E/ETRX 1000 NIHCHAL ISRANI FOUNDATION MADHAV AGARWAL T.E/ETRX 1000 NIHCHAL ISRANI FOUNDATION SAGAR SURESH MADNANI T.E/CMPN 1000 NIHCHAL ISRANI FOUNDATION SUSHANT VIJAY SHELAR T.E./EXTC 1000 NIHCHAL ISRANI FOUNDATION SAGAR PANJWANI MCA 1000 NIHCHAL ISRANI FOUNDATION SUPRIYA BABAJI TAMBE MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 SHETH MORARII KANJI CHARITABLE TRUST PRATIKSHA KINI ET - II YEAR 300 17 SHETH MORARII KANJI PRATIKSHA KINI ET - II YEAR 300 18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST GHOLE AROOSA NASIR R 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 900 19 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900	14		MANGTANI TARUN	ET - IV YEAR	5000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 THE FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SHETH MORARJI KANJI CHARITABLE TRUST GHOLE AROOSA NASIR R ET - II YEAR 6000 ET - IV YEAR 6000 SUMAN RAMESH TULSIANI TRUST NIHARIKA RAI FE 900 SUMAN RAMESH TULSIANI TRUST NIHARIKA RAI FE 900 SUMAN RAMESH TULSIANI TRUST VARSHIKA MAKHIJA FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900	15		RADHIKA KARWA	IT - III YEAR	20000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 THE FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST GHOLE AROOSA NASIR R ET - II YEAR 6000 THE POOL TO THE	16	NIHCHAL ISRANI FOUNDATION	SAGAR SIDHWA	FE / D2A	10000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 17 SHETH MORARJI KANJI CHARITABLE TRUST PRATIKSHA KINI FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 900 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	VARUN ROCHWANI	FE / D2C	10000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 17 SHETH MORARII KANJI CHARITABLE TRUST PRATIKSHA KINI ET - II YEAR 300 18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 900 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	DHANASHREE SHETTY	FE / D2B	10000
NIHCHAL ISRANI FOUNDATION SAGAR SURESH MADNANI T.E/CMPN 1000 NIHCHAL ISRANI FOUNDATION SUSHANT VIJAY SHELAR T.E./EXTC 1000 NIHCHAL ISRANI FOUNDATION SUPRIYA BABAJI TAMBE MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 TO SHETH MORARJI KANJI CHARITABLE TRUST PRATIKSHA KINI FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	KAWANA DIVYA RAJESH	FE / D5	10000
NIHCHAL ISRANI FOUNDATION SUSHANT VIJAY SHELAR T.E./EXTC 1000 NIHCHAL ISRANI FOUNDATION SUPRIYA BABAJI TAMBE MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 PRATIKSHA KINI FET - II YEAR 300 18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST GHOLE AROOSA NASIR R ET - IV YEAR 6000 19 SUMAN RAMESH TULSIANI TRUST VANSHIKA MAKHIJA FE 900 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	LABANA DEVENDRA SINGH	FE / D4B	10000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR NCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 PRATIKSHA KINI FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	SANKALP DINANATH TRIPATHI	T.E/ETRX	10000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 PRATIKSHA KINI FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	MADHAV AGARWAL	T.E/ETRX	10000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 PRATIKSHA KINI TO CHARITABLE TRUST SHETH MORARJI KANJI CHARITABLE TRUST PRATIKSHA KINI FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	SAGAR SURESH MADNANI	T.E/CMPN	10000
NIHCHAL ISRANI FOUNDATION NIHCHAL ISRANI FOUNDATION NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 17 SHETH MORARJI KANJI CHARITABLE TRUST PRATIKSHA KINI ET - II YEAR 300 18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	SUSHANT VIJAY SHELAR	T.E./EXTC	10000
NIHCHAL ISRANI FOUNDATION NILIMA VISHNU PAWAR MCA 1000 17 SHETH MORARJI KANJI CHARITABLE TRUST PRATIKSHA KINI FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	SAGAR PANJWANI	MCA	10000
17 SHETH MORARJI KANJI CHARITABLE TRUST 18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST 19 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	SUPRIYA BABAJI TAMBE	MCA	10000
18 FAZLANI AISHABAI & HAJI ABDUL LATIF CHARITABLE TRUST 19 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		NIHCHAL ISRANI FOUNDATION	NILIMA VISHNU PAWAR	MCA	10000
LATIF CHARITABLE TRUST SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900	17		PRATIKSHA KINI	ET - II YEAR	3000
SUMAN RAMESH TULSIANI TRUST NIHARIKA RAI FE 900 SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900	18		GHOLE AROOSA NASIR R	ET - IV YEAR	60000
SUMAN RAMESH TULSIANI TRUST KUSHAL DAYANI FE 900 SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900	19	SUMAN RAMESH TULSIANI TRUST	VANSHIKA MAKHIJA	FE	9000
SUMAN RAMESH TULSIANI TRUST LABANA DEVENDRA SINGH FE 900 SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		SUMAN RAMESH TULSIANI TRUST	NIHARIKA RAI	FE	9000
SUMAN RAMESH TULSIANI TRUST VARUN ROCHWANI FE 900		SUMAN RAMESH TULSIANI TRUST	KUSHAL DAYANI	FE	9000
The state of the s		SUMAN RAMESH TULSIANI TRUST	LABANA DEVENDRA SINGH	FE	9000
SUMAN RAMESH TULSIANI TRUST DHANASHREE SHETTY FE 900		SUMAN RAMESH TULSIANI TRUST	VARUN ROCHWANI	FE / S	9000
		SUMAN RAMESH TULSIANI TRUST	DHANASHREE SHETTY	FE	9000
SUMAN RAMESH TULSIANI TRUST KAWANA DIVYA RAJESH		SUMAN RAMESH TULSIANI TRUST	KAWANA DIVYA RAJESH	EE ma	9000



Institute of Technology

SUMAN RAMESH TULSIANI TRUST	KAWANA SURAKSHA SANJAYKUMAR	FE	9000
SUMAN RAMESH TULSIANI TRUST	MOHINI BATRA	FE	9000
SUMAN RAMESH TULSIANI TRUST	NIKHIL PUNJABI	FE	9000
SUMAN RAMESH TULSIANI TRUST	SHRADDHA PRABHU	MCA	9000
SUMAN RAMESH TULSIANI TRUST	KANCHAN YEVALE	MCA	9000
SUMAN RAMESH TULSIANI TRUST	KOMAL SILMULA	MCA	9000
SUMAN RAMESH TULSIANI TRUST	SHUBHAM KAMALAPURE	MCA	9000
SUMAN RAMESH TULSIANI TRUST	PRADEEP BORA	MCA	9000
SUMAN RAMESH TULSIANI TRUST	ARUN REVI	MCA	9000
SUMAN RAMESH TULSIANI TRUST	SUNIL KABIRAJ SAHU	MCA	9000
SUMAN RAMESH TULSIANI TRUST	SANKET PATIL	MCA	9000
SUMAN RAMESH TULSIANI TRUST	REENA DAMBARU EPILI	MCA	9000
SUMAN RAMESH TULSIANI TRUST	YOGESH SUTHAR	MCA	9000
SUMAN RAMESH TULSIANI TRUST	AJAY NAIR	MCA	9000
SUMAN RAMESH TULSIANI TRUST	RAVI PRABHU	MCA	9000
	CHOWDHARI MOHD SHOAIB		
SUMAN RAMESH TULSIANI TRUST	QAMARUL HASAN	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	AKSHAY ASHOK BHISE	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	GOKUL NARAYANAN	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	ARVIND HARCHARAN KUSHWAHA	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	PAWAN KUMARLAL SUKHWANI	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	SAYYADANWAR KHAJAPATEL KAZI	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	SANKALP PRABODH KHANDKAR	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	PRATHAMESH KULKARNI	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	KIRAN BALAKRISHNAN	ETRX	9000
SUMAN RAMESH TULSIANI TRUST	KIRAN CHAVAN	EXTC	9000
SUMAN RAMESH TULSIANI TRUST	PRATEEKSHA SUNIL KINI	EXTC	9000
SUMAN RAMESH TULSIANI TRUST	ASHAR ANSARI	EXTC	9000
SUMAN RAMESH TULSIANI TRUST	SAGAR S. BHOJANE	EXTC	9000
SUMAN RAMESH TULSIANI TRUST	PANKAJ NAMDEV SHELAR	EXTC	9000
SUMAN RAMESH TULSIANI TRUST	TARUN NARESH MANGTANI	EXTC	9000
SUMAN RAMESH TULSIANI TRUST	SANDESH SOPAN NAVGNANE	EXTO	OF TECH 9000
SUMAN RAMESH TULSIANI TRUST	ANUDYANA G. JAISWAL	EXTE	9000
SUMAN RAMESH TULSIANI TRUST	NIKITA GURNANI	EXTC	9000



	SUMAN RAMESH TULSIANI TRUST	THAKUR YOGITA	EXTC	9000
	SUMAN RAMESH TULSIANI TRUST	VASANT MANGESH SALUNKE PATIL	EXTC	9000
	SUMAN RAMESH TULSIANI TRUST	NEHA POTE	EXTC	9000
	SUMAN RAMESH TULSIANI TRUST	VIDHRANI SEEMA PRAKASHLAL	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	KRIMA NIKESH SHAH	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	HEMA HARESH LULLA	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	YOGESH LULLA	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	HARSH SINGH	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	KARAN HOTWANI	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	DHIRAJ ASWANI	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	NISHA NARAINDAS KHUBCHANDANI	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	VIPUL KITHANI	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	RIYA KARIA	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	REKHA GHANSHYAM GUPTA	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	AISHWARYA VIVEK BHAVSAR	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	PRAVEEN DANGWANI	INFT	9000
	SUMAN RAMESH TULSIANI TRUST	NISHA PURSWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	RESHMA RAVINDRA KHOT	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	VARSHA AMBRAT CHHABRIA	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	JYOTI DHANRAJ TEJWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	MITESH RAJU METHANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	HARSHA PRAKASH VIDHRANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	TUSHAR ASHOK CHOTLANI	CMPN	
	SUMAN RAMESH TULSIANI TRUST	SHILPA MAHENDRA VAISH	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	NISHA KATARIA	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	MAHIMA MOHAN MOTWANI		9000
	SUMAN RAMESH TULSIANI TRUST	HARSHA RAMESH PUNJABI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	TARUN R RAMRAKHYANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	KAJAL KHATWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	VIREN MAHESH WADHWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	YOGITA JETHANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	NIKHIL VATWANI	CMPN	1E OF 9000
_	SUMAN RAMESH TULSIANI TRUST	VIJAY KATARIA	CMPN	9000



<u> </u>	SUMAN RAMESH TULSIANI TRUST		CMPN	9000
<u> </u>	SUMAN RAMESH TULSIANI TRUST		CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	SAGAR SACHDEV	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	DISHA HARESH RAJANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	RICHA SANJAY BHATIA	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	PIYUSH NARESH LUND	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	DEEPIKA ASHOK KHITHANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	PRIYANKA WADHWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	RESHAM SUNIL VERLIANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	TARUN SHANKERLAL METHWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	MANISHA RAJU MIRCHANDANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	MEGHA MANGLANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	HITESH NARENDRAKUMAR VALECHA	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	SIMRAN SANJAY DEMBLA	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	RAHUL SURESH GODHANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	MOHIT CHOITHWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	PAWAN SURESH WADHWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	PREETI HARESH ARTANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	AKSHAY ULHAS CHIDRAWAR	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	PRAVIN TAHILIANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	ANAND PREM VASWANI	CMPN	9000
	SUMAN RAMESH TULSIANI TRUST	SATISH KANHAIYALAL FULWANI	CMPN	9000
20	SINKHAI FOUNDATION	PRATIKSHA KINI	ET - II YEAR	10000
21	SAI RAM CHAIRTABLE TRUST	TEJUJA KHAILESH	D14C	5000
22	VES EDUCATION SOCIETY EDUCATION FUND	YOGESH AHUJA	ET - IV YEAR	
	VES EDUCATION SOCIETY	INTENDO A DALINIO	LI-IV ILAK	15000
	EDUCATION FUND	HITENDRA PAHUJA	ET - IV YEAR	15000
	VES EDUCATION SOCIETY	RAJU METHANI	CM - III	
	VES EDUCATION SOCIETY	is so meman	YEAR	15000
	EDUCATION SOCIETY	MAHESH PARWANI	CM - IV	45
	VES EDUCATION SOCIETY		YEAR	15000
	EDUCATION FUND	JAYESH AHUJA	IV YEAR TECH	010630000
	VES EDUCATION SOCIETY	BIGNESHWAR MOHANTY	ET - III YEAR	5000
			1101 6	2



Institute of Technology

	EDUCATION FUND			
	VES EDUCATION SOCIETY	TARUN RAMRAKHIANI	CM - III	
	EDUCATION FUND	TAKON KANTIKAKITANI	YEAR	7500
	VES EDUCATION SOCIETY	HITEN MALKANI		
	EDUCATION FUND	THE WALKS	ET - IV YEAR	15000
l	VES EDUCATION SOCIETY	AMOL EKALE		
	EDUCATION FUND	ANIOL LIVILL		30000
	VES EDUCATION SOCIETY	SIMRAN ROHRA	CM - IV	
	EDUCATION FUND	Similar Norma	YEAR	10000
l	VES EDUCATION SOCIETY	AAKASH TALREJA		
	SCHOLARSHIP FUND		CM - II YEAR	10000
	VES EDUCATION SOCIETY	NIDHI A SACHDEV		
	SCHOLARSHIP FUND	MIDTILA SACIIDEV	CM - I YEAR	7500
	VES EDUCATION SOCIETY	NILIMA PAWAR		
	SCHOLARSHIP FUND	INICINIA PAWAR	MCA	15000
23	SWAMI SHANTI PRAKASH	VINAY BHAGWANI		
	FOUNDATION	VIIVAI BHAGWANI	ET - IV YEAR	5000
24	SETH HIRACHAND GUMANI JAIN	SUYASH KHOLAPURE		
	BOARDING SCHOOL TRUST	30 IASH KHOLAFORE	MCA	4000
25	GURU NANAK	VINAY BHAGWANI	ET - IV YEAR	4116
26		MOUITE AVEUAT VOLICUNIAT	CMPN-II	
20	STUDENT AID	MOHITE AKSHAT KRUSHNAT	Year	15000
		AUMAD DANISH NAZID A HAN	CMPN-III	
	STUDENT AID	AHMAD DANISH NAZIR AJIJAN	Year	15000
		PANCHAL SAYALI SANTOSH	CMPN-II	
	STUDENT AID	PANCHAL SATALI SANTOSH	Year	15000
		NAIK PRANIT SHIVDAS POOJA	CMPN-II	
	STUDENT AID	MAIR FRANTI SHIVBAS FOOJA	Year	15000
	STUDENT AID	DESHMUKH OMKAR DILIP	ETRX-II Year	15000
	STUDENT AID	PAWAR FALGUNI SANJAY SHARMILA	ETRX-IV Year	15000
	STUDENT AID	SHINDE AMOL SURYABHAN	ETRX-II Year	15000
	STUDENT AID	GHADGE KAJAL RAGHUNATH	ETRX-II Year	15000
		NAIR ABHIJITH RAJAGOPALAN		
	STUDENT AID	SHOBHANA	ETRX-IV Year	15000
	STUDENT AID	BHOJANE SAGAR SUHAS	EXTC-III Year	15000
	STUDENT AID	MAHAKAL SNEHA JANARDAN	EXTC-II Year	15000
	STUDENT AID	MOHANTY BIGNESHWAR BHAGABAN	EXTC-III Year	15000
	STUDENT AID	WALASE PRATIK CHANDRAKANT	EXTC-IV Year	15000
			1 5.00	/4//



Institute of Technology

-	TOTAL	201 STUDENTS	5	2420816
	VIVEKANAND JYOTI	YADAV HARISH FIRATU URMILA	ETRX / D11A	25000
-	VIVEKANAND JYOTI	LALBABU	MCA / III	25000
		JAISWAL PAWAN KUMAR SHRI		
	VIVEKANAND JYOTI	SHETTY DIPSHI DAYANAND JYOTI	INFT / D15	25000
	VIVEKANAND JYOTI	KAJAL RAJANI	CMPN / D17B	25000
	VIVEKANAND JYOTI	RUKHSANA	EXTC / D19C	25000
_	TITEIGHTAIND TIOTI	GHOLE AROOSA NASIR	INST /DT3	25000
27	VIVEKANAND JYOTI	PRATIK MAJALKAR	MCA-III Year INST /D13	15000
$\overline{}$	STUDENT AID	KUMAR KUNDAN		1500
$\overline{}$	STUDENT AID	ABHISHEK C. CHAVAN	MCA-II Year	1500
	STUDENT AID	BIRAJDAR AJAY ASHOK	MCA-II Year	1500
	STUDENT AID	SIDDHANT DEEPAK SHINDE	MCA-III Year MCA-I Year	1500
\dashv	STUDENT AID	RASTOGI UTKARSH SANJAY	INST-III Year	1500
-+	STUDENT AID	KATKAR DHANRAJ VIKAS	INST-II Year	1500
\dashv	STUDENT AID	JOSHI PRATIKSHA SANJAY	INST-II Year	1500
$\overline{}$	STUDENT AID	MATEKAR SHUBHAM RAJESH	INST-IV Year	1500
$\overline{}$	STUDENT AID	KHANDASKAR HARESH TANAJI	INST-II Year	1500
\rightarrow	STUDENT AID	MATEKAR SANTOSH ASHOK	INFT-IV Year	1500
\rightarrow	STUDENT AID	SOLANKI MITEN CHANDULAL	INFT- I Year	1500
\rightarrow	STUDENT AID	PILLAI VIGNESH KAILASAM	INFT-III Year	1500
_	STUDENT AID	BHAVIKA SHAHANI	EXTC-II Year	1500
_	STUDENT AID	ANSARI ASHAR ABRAR	EXTC-III Year	1500
	STUDENT AID	RAMCHANDANI NAMRATA KUMAR RENU	EVEC III V	
	STUDENT AID	RUKMINI	EXTC-IV Year	1500
		NIMBALKAR DEEPTI SADASHIV		
	STUDENT AID	NAIK NILESH EKNATH ARCHANA	EXTC-IV Year	1500
	STUDENT AID	WALASE PRATIK CHANDRAKANT	EXTC-IV Year	150



(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

AY 2016-17

TRUST NAME	STUDENT NO.	AMOUNT
VES EDUCATION SOCIETY EDUCATION FUND	18*15000	270000
VES EDUCATION SOCIETY EDUCATION FUND	10*10000	100000
VES EDUCATION SOCIETY EDUCATION FUND	2*7500	15000
VES EDUCATION SOCIETY EDUCATION FUND	1*5000	5000
PARPATIBAI EDANMAL DASWANI CHARITABLE		
TRUST	7*10000	70000
PARPATIBAI EDANMAL DASWANI CHARITABLE		
TRUST	1*7500	7500
PARPATIBAI EDANMAL DASWANI CHARITABLE		
TRUST	1*5000	5000
BHARTIYA HINDHU SABHA	5*15000	75000
THE SUFI TRUST BOMBAY	1*5000	5000
THE SUFI TRUST BOMBAY	5*10000	50000
SAI RAM CHARITABLE TRUST	3*5000	15000
VIVEKANAND JYOTI	2*40000	80000
SHREE LALJI KHETJI GOGRI CHARITABLE TRUST	1*2500	2500
SUSHILA MODI CHARITABLE TRUST	1*30000	30000
SETH RUGHNATHDAS LALJI CHARITABLE TRUST	1*2000	2000
JANTA JANARDAN PARISHAD SWAMI		
SHANTIPRAKASH EDUCATION SCHOLARSHIP	2*20000	40000
RRM FOUNDATION	1*1500	1500
POONAMCHAND JV CHARITABLE TRUST	1*3000	3000
THE DEEN BANDHU SAMAJ TRUST	1*30000	30000
THE THADOMAL MUSHTAKARAM & JOTSINGH		30000
THADOMAL SAHANI TRUST	1*5000	5000
MALHARBAI FOUNDATION	1*5000	5000
GULABRAI KURANI	1*2500	11MD 2500
	1*5000	5000



FRIENDS OF INTERNATIONAL SINDHIS	1*5000	5000
JANTA PARISHAD	1*5000	5000
SHRI GURU NANAK DARBAR TRUST	1*5000	5000
SHANTICHAND BABUBHAI JHAVERI		
CHARITABLE TRUST	1*1000	1000
THE DEEN BANDHU SAMAJ TRUST	1*30000	30000
SWAMI SHANTI PRAKASH ASHRAM TRUST	2*10000	20000
SWAMI SHANTI PRAKASH ASHRAM TRUST	2*5000	10000
SHREE SANKESHWAR PARSHWANATH	1*15000	15000
SHREE MARINE DRIVE JAIN SADHARMIK		
FOUNDATION	1*7500	7500
THE THADOMAL M & J SAHANI TRUST	1*3000	3000
SHRI MAHESH SHAH CHARITABLE TRUST	1*20000	20000
JASSIBAI B LUDHANI CHARITABLE TRUST	1*5000	5000
LIONS CULB OF EAST BOMBAY	2*1500	3000
LIONS CULB OF EAST BOMBAY	1*1400	1400
ANIL RADHAKISHAN GURNANEY CHARITABLE		
TRUST	1*5000	5000
AMMADA TRUST	1*10000	10000
ZAKAL FUND	1*25000	25000
RAMPRAKASH PODER CHARITABLE TRUST	1*1000	1000
SUMAN RAMESH TULSIANI	74*10000	740000
THE THADHOMAL SHAHANI TRUST	2*5000	10000
AKHIL BHARTIYA MAHILA SEVA TRUST	1*20000	20000
LILA HIRA CHARITABLE FOUNDATION	1*6000	6000
NARAINDAS MARBAI BUDHRANI TRUST	2*20000	40000
NIHCHAL ISRANI FOUNDATION	10*10000	100000
SHREE KUTCHI LOHANE SAMAJ	1*25000	25000
V E S WELFARE SECTION	1*10000	10000
RENUKA TIK	1*10000	10000
INDIANBULLS FOUNDATION	3*72255	216765
INDIANBULLS FOUNDATION	1*72695	JANID EU72695
PUJYA BHAINJI DR SAVITRI DEVI TRUST	1*11000	11000
SUNDER SHEWAK SABHA	1*15000	15000



Institute of Technology

	189 students	2277360
SEWAK JATHA DADAR REGD	1*5000	5000

TRUST NAME	STUDENT NO.	AMOUNT
SUMAN RAMESH TULSIANI	1*10000	10000
SUMAN RAMESH TULSIANI	1*10000	10000
	2 Students	20000

STUDENT AID	32*15000	480000
VIVEKANAND JYOTI	6*25000	150000
	38 students	630000
	228	2927360

SR NO	TRUST NAME	STUDENT NAME	CLASS/YEAR	AMOU NT
1	VES EDUCATION SOCIETY EDUCATION FUND	HARESH CHAWLA	D7C / II YEAR	10000
	VES EDUCATION SOCIETY EDUCATION FUND	NAMRATA RAMCHANDANI	D9B /	10000
	VES EDUCATION SOCIETY EDUCATION FUND	KHAILESH TEJUJA	D14B /	7500
	VES EDUCATION SOCIETY EDUCATION FUND	RAHUL CHIMNANI	D6B	7500
	VES EDUCATION SOCIETY EDUCATION FUND	SAGAR SACHDEV	D12B	10000
	VES EDUCATION SOCIETY EDUCATION FUND	MAHESH KHETPAL	D9B AUMEAT - OU C	10000



1	VES EDUCATION SOCIETY	VINAY SUHANDA	D14A /	
	EDUCATION FUND			10000
1	VES EDUCATION SOCIETY	KURSEJA GAUTAM	D19B /	10000
	EDUCATION FUND			10000
1	VES EDUCATION SOCIETY	PARVEEN DANGWANI	D10A / II YEAR	10000
_	EDUCATION FUND		,	15000
1	VES EDUCATION SOCIETY	ASHITOSH JOSHI	D14B /	
<u> </u>	EDUCATION FUND			15000
1	VES EDUCATION SOCIETY	NEHA MAHESHA	BE1	
_	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	SAILESH PANJWANI	D19A	23000
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	AAKANSHA TALREJA	BE1	13000
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	DINESH RAJPAL	D20A	25000
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	HITEN MALKANI	D11A / III	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	VISHAL GAJWANI	D19A	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	MAYUR KALWANI	D18A	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	RAHUL GODHANI	D7A	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	BIGNESHWAR MOHANTY	D9A	
	EDUCATION FUND			10000
	VES EDUCATION SOCIETY	GAYATRI KOKANI	D17C	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	VINAY GODHANI	D17B	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	SMITA HADAWALE	D17A	
	EDUCATION FUND			15000
	VES EDUCATION SOCIETY	APARNA MGDUM		
	EDUCATION FUND		CM - IV YEAR	15000
	VES EDUCATION SOCIETY	MAMTA WADHWA		
	EDUCATION FUND		IT - IV YEAR	15000
	VES EDUCATION SOCIETY	JUHI PURSWANI	D15A	dian.
	EDUCATION FUND		MSTITUT	0/15000
	VES EDUCATION SOCIETY	AKSHAY NAVANI	BE1 (8)	9 121
	EDUCATION FUND		OCI OCI	15000



Institute of Technology

962				
	VES EDUCATION SOCIETY	CHETAN GUPTA		
	EDUCATION FUND		CM - III YEAR	10000
1	VES EDUCATION SOCIETY	VIDHRANI PRIYA		
	EDUCATION FUND		IT - II YEAR	10000
	VES EDUCATION SOCIETY	HEMA H LULLA		
\vdash	EDUCATION FUND		IT - II YEAR	10000
1	VES EDUCATION SOCIETY	PREM VASWANI	CMPN	
<u> </u>	EDUCATION FUND			15000
1	VES EDUCATION SOCIETY	BIGNESHWAR MAHONTY	D9A	
⊢	EDUCATION FUND			5000
	PARPATIBAI EDANMAL	HARSHA PUNJABI		
2	DASWANI CHARITABLE			
<u> </u>	TRUST		CM - II YEAR	10000
1	PARPATIBAI EDANMAL	SURAJ NANWANI		
1	DASWANI CHARITABLE	1		
<u> </u>	TRUST			10000
1	PARPATIBAI EDANMAL	MANISH SACHDEV	CMPN	
l	DASWANI CHARITABLE			
<u> </u>	TRUST			10000
1	PARPATIBAI EDANMAL	PRASANNA ASHISH BISHEY	CMPN	
1	DASWANI CHARITABLE	1		
<u> </u>	TRUST			7500
l	PARPATIBAI EDANMAL	MANISH	CMPN	
	DASWANI CHARITABLE	1		
	TRUST			10000
	PARPATIBAI EDANMAL	MEET DINESH GIDWANI	D17A	
l	DASWANI CHARITABLE		1	
	TRUST			10000
	PARPATIBAI EDANMAL	PRAVEEN DANGWANI	D10A / II YEAR	
l	DASWANI CHARITABLE			
	TRUST			10000
	PARPATIBAI EDANMAL	PAYAL RAJANI		
	DASWANI CHARITABLE			
	TRUST		CM - IV YEAR	10000
	PARPATIBAI EDANMAL	KOKANE GAYTRI		
	DASWANI CHARITABLE		TX(H	10100
	TRUST		CM - IV YEAR	10106; 5000
3	BHARTIYA HINDHU SABHA	MAHESHA NEHA ANUP	IT - I YEAR TOO	15000
	BHARTIYA HINDHU SABHA	AKSHAY SUNIL NAVANI	BE1 2	15000
			11-1 0	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,



Institute of Technology

	BHARTIYA HINDHU SABHA	VASWANI ANAND PREM	CM - III YEAR	15000
	BHARTIYA HINDHU SABHA	MAYUR KALWANI	IS - IV YEAR	15000
4	THE SUFI TRUST BOMBAY	TARLEEN DAND	D19C	5000
	THE SUFI TRUST BOMBAY	SAGAR SACHDEV	D12B/	10000
	THE SUFI TRUST BOMBAY	VINAY BHAGWANI	D14B/	10000
	THE SUFI TRUST BOMBAY	SAGAR MADNANI	CM - II YEAR	10000
	THE SUFI TRUST BOMBAY	RAHUL CHIMNANI	D6B	10000
	THE SUFI TRUST BOMBAY	SAILESH PUNJAWANI	D19A	10000
5	SAI RAM CHARITABLE TRUST	SAILESH PANJWANI	D19A	5000
	SAI RAM CHARITABLE TRUST	JAI JETHMALANI	ET - III YEAR	5000
	SAI RAM CHARITABLE TRUST	VINAY BHAGWANI	D14B/	5000
6	VIVEKANAND JYOTI	YEWALE BHAGESH		40000
	VIVEKANAND JYOTI	SUDHAKAR YADAV	MCA	40000
7	SHREE LALJI KHETJI GOGRI CHARITABLE TRUST	TARLEEN DAND	D19C	2500
8	SUSHILA MODI CHARITABLE TRUST	TARLEEN DAND	D19C	30000
9	SETH RUGHNATHDAS LALJI CHARITABLE TRUST	TARLEEN DAND	D19C	2000
10	JANTA JANARDAN PARISHAD SWAMI SHANTIPRAKASH EDUCATION SCHOLARSHIP	VINAY BHAGWANI	D14B /	20000
	JANTA JANARDAN PARISHAD SWAMI SHANTIPRAKASH EDUCATION SCHOLARSHIP	JAI JETHMALANI	ET - III YEAR	20000
11	RRM FOUNDATION	VINAY BHAGWANI	D14B /	
12	POONAMCHAND JV CHARITABLE TRUST	TARLEEN DAND	D19C	3000
13		DINESH RAJPAL	IT - IV YEAR	30000
14	THE THADOMAL MUSHTAKARAM & JOTSINGH THADOMAL	SAILESH PANJWANI	last 1	5,11,5000



	SAHANI TRUST			T
15	MALHARBAI FOUNDATION	SAILESH PANJWANI	D19A	5000
16	GULABRAI KURANI	SAILESH PANJWANI	D19A	2500
17	SITABAI LOKUMAL TRUST	SAILESH PANJWANI	D19A	5000
18	FRIENDS OF INTERNATIONAL SINDHIS	SAILESH PANJWANI	D19A	5000
19	JANTA PARISHAD	SAILESH PANJWANI	D19A	5000
20	SHRI GURU NANAK DARBAR TRUST	SAILESH PANJWANI	D19A	5000
21	SHANTICHAND BABUBHAI JHAVERI CHARITABLE TRUST	TARLEEN DAND	D19C	1000
22	THE DEEN BANDHU SAMAJ TRUST	DINESH RAJPAL	IT - IV YEAR	30000
23	SWAMI SHANTI PRAKASH ASHRAM TRUST	JAI JETHMALANI	ET - III YEAR	10000
	SWAMI SHANTI PRAKASH ASHRAM TRUST	VINAY SUHANDA	D14A /	10000
	SWAMI SHANTI PRAKASH ASHRAM TRUST	SUMEET SAPLA	IT - III YEAR	5000
	SWAMI SHANTI PRAKASH ASHRAM TRUST	SAGAR SACHDEV	D12B /	5000
24	SHREE SANKESHWAR PARSHWANATH	TARLEEN DAND	D19C	15000
25	SHREE MARINE DRIVE JAIN SADHARMIK FOUNDATION	TARLEEN DAND	D19C	7500
26	THE THADOMAL M & J SAHANI TRUST	SAGAR SACHDEV	D12B /	3000
27	SHRI MAHESH SHAH CHARITABLE TRUST	RAJIV YADAV	ET - III YEAR	20000
.8	JASSIBAI B LUDHANI CHARITABLE TRUST	SAILESH PANJWANI	D19A	5000
.9	LIONS CULB OF EAST BOMBAY	SIDHARTH SANGAR	ET - III YEAR	1500
	LIONS CULB OF EAST BOMBAY	RAJIV YADAV	ET - III YEAR KANA	1400
	LIONS CULB OF EAST BOMBAY	GANESH PATENE	EXTC (*	1500



30	ANIL RADHAKISHAN GURNANEY CHARITABLE	SAILESH PUNJAWANI	D19A	
"	TRUST			5000
31	AMMADA TRUST	TARLEEN DAND	D19C	10000
32		SHAIKH ABDUL GAFFAR		10000
J2	ZAKAL FUND	ABDUL MAJEED	ET - III YEAR	25000
33	RAMPRAKASH PODER	ANIKET LALJI BHADRICHA		
	CHARITABLE TRUST		IS - I YEAR	1000
34		74*10000	AS PER LIST	
34	SUMAN RAMESH TULSIANI	74*10000	ATTACHED	740000
	THE THADHOMAL SHAHANI	HARSHA VIDHRANI	BELOW	740000
35	TRUST	THE STATE OF THE S	CM - II YEAR	5000
	THE THADHOMAL SHAHANI	PRAVIN TAHILIANI	CIVI II TEAR	3000
	TRUST		CM - III YEAR	5000
36	AKHIL BHARTIYA MAHILA	RADHIKA J KARAD	INFT D10	
	SEVA TRUST			20000
37	LILA HIRA CHARITABLE	KANDALKAR NIKITA K		
	POUNDATION NARAINDAS MARBAI		IT - IV YEAR	6000
38	BUDHRANI TRUST	MAGDUM APAVNA VASANT	D17A	
	NARAINDAS MARBAI	HADANALE SMITA PUNDALIK	D17A	20000
	BUDHRANI TRUST	THE STATE STATE OF THE STATE OF	DITA	20000
39	NIHCHAL ISRANI	10*10000		20000
	FOUNDATION			100000
40	SHREE KUTCHI LOHANE	HAVAN MANOJ SOMAIYA		
	SAMAJ		CM - IV YEAR	25000
41	V E S WELFARE SECTION	VINAY BHAGWANI	D14B/	10000
42	RENUKA TIK	SIMRAN ROHIRA	D12A	10000
43	INDIANBULLS FOUNDATION	PRIYANKA P. PATHAK	MCA	72255
	INDIANBULLS FOUNDATION	PARVEZ D H MULLAH	MCA	72255
	INDIANBULLS FOUNDATION	AJAY PRAJAPATI	MCA	72255
	INDIANBULLS FOUNDATION	JADHAV POOJA	MCA	72695
14	PUJYA BHAINJI DR SAVITRI	VINAY SHAJWANI	EXTC D14 B	72055
	DEVI TRUST		NAO	EDUC1/1800
45	SUNDER SHEWAK SABHA	JAI JETHMALANI	D14 B	15000
16	SEWAK JATHA DADAR REGD	VINAY BHAGWANI	D14B / *	F E ECON
47	STUDENT AID	ANAND VASWANI	D12C	15000



_	STUDENT AID	KAJAL RAJANI	D12B	15000
	STUDENT AID	SAMEER UDGIRKAR	D12B	15000
	STUDENT AID	SANJAY UDASI	D7B	15000
_	STUDENT AID	SAGAR SACHDEV	D12B	15000
	STUDENT AID	MANISH CHANDWANI	D12C	15000
	STUDENT AID	AISHWARYA BHAVSAR	INFT D10	15000
	STUDENT AID	DEEPTI NIMBALKAR	EXTC D9 A	15000
	STUDENT AID	VISHWAKARMA RAHUL	EXTC D19 C	15000
	STUDENT AID	SAILESH PANJWANI	EXTC D14 A	15000
	STUDENT AID	PRATIK WALASE	EXTC D14 C	15000
	STUDENT AID	AJIT TUKARAM PATIL	ME -I INST	15000
	STUDENT AID	UJWAL ASHOK SUVARNA	MCA I Year	15000
	STUDENT AID	SUDHAKAR YADAV	MCA III Year	15000
	STUDENT AID	PRADEEP BORA	MCA I Year	15000
	STUDENT AID	VAIBHAV ASHOK YEVALE	MCA II Year	15000
\vdash	STUDENT AID	KANCHAN ASHOK YEVALE	MCA I Year	15000
_	STUDENT AID	AJAY BIRAJDAR	MCA I Year	15000
	STUDENT AID	JAY JETHVA	MCA I Year	15000
		MUTE NAGARJUNA	MCA II Year	
\vdash	STUDENT AID	VENKATASUBBARA		15000
<u> </u>	STUDENT AID	ASHUTOSH JAISWAL	MCA III Year	15000
1	STUDENT AID	JYOTI LALTAPRASAD	MCA I Year	
	STUDENT AID	CHAUHAN ASHISH BHALERAO	NACA I W	15000
	STUDENT AID	DIVYA UPALEKAR	MCA I Year	15000
\vdash		FALGUNI PAWAR	ETRX D16B	15000
\vdash	STUDENT AID		ETRX D11B	15000
\vdash	STUDENT AID	PARYANI KRISHNA	ETRX D11 A	15000
_	STUDENT AID	PATIL APURVA ARUN	D3	15000
<u> </u>	STUDENT AID	MALI HARSHDA PRAMOD	D1 B	15000
_	STUDENT AID	SAW SACHIN AZAD	D5	15000
	STUDENT AID	MANE ADITYA	D2 C	15000
	STUDENT AID	JETHANI YOGITA	D2 A SUCTION SOC	15000
40	STUDENT AID	PATEL SAMAD	D2 AS MUNICIPAL	15000
48	VIVEKANAND JYOTI	AARTI NIHALANI	D12B	25000



Institute of Technology

(Affiliated to University of Mumbai, Approved by AICTE & Recognized by Govt. of Maharashtra)

_	VIVEKANAND JYOTI	POOJA SINGH	D15	25000
	VIVEKANAND JYOTI	UTKARSH RASTOGI	II Year	25000
	VIVEKANAND JYOTI	PRATIK SHUKLA	D19C	25000
	VIVEKANAND JYOTI	HARESH KHANDASKAR	D13	25000
	VIVEKANAND JYOTI	GOKUL NARAYANAN	D11A	25000

SUMAN RAMESH TULSIANI CHARITABLE TRUST SCHOLARSHIP 2016-17

No	Name of the Student	Branch / Year / Semester / Division	Amount Sanctioned
1	Simran Bhojwani	INFT / Second Year / III / D10	10000
2	Aarti Gopichand Bhagtani	INFT / Second Year / III / D10	10000
3	Dipshi Shetty	INFT / Second Year / III / D10	10000
4	Hema Kukreja	INFT / Fourth Year / VII / D20	10000
5	Mamta Wadhwa	INFT / Fourth Year / VII / D20	10000
6	Pooja Singh	INFT / Third Year / V / D15	10000
7	Vijay Sahani	INFT / Second Year / III / D10	10000
8	Vipul Kithani	INFT / Second Year / III / D10	10000
9	Vijay Thakur	INFT / Fourth Year / VII / D20	10000
10	Riya Karia	INFT / Second Year / III / D10	10000
11	Ankita Tanawde	INFT / Fourth Year / VII / D20	10000
12	Lulla Yogesh Dinesh	D5	10000
13	Murjani Khushboo M	D2A	10000
14	Naik Pranit Shivdas	D2B	10000
15	Rohra Tamanna Ghanshyamdas	D2A	10000
16	Chetwani Raj Sushil	D2A	10000
17	Manwani Sumit D	D2B	10000
18	Bhatia Richa Sanjay	D2B	10000
19	Gurnani Latika Prakash	D5	10000
20	Jeswani Heena Prem	D2A	10000
21	Methwani Tarun Shankarlal	D2A	10000
22	Verliani Resham Sunil	D2B	10000
23	Makhija Mohit Hareshlal	D2B	10000
24	Rohit Kumbhar Shankarlal	INST / Fourth Year / VII	10000



Institute of Technology

25	Mayur Prakash Kalwani	INST / Fourth Year / VII	10000
26	namarata ramchandani	EXTC / Second Year / III / B Division (D9B)	10000
27	Bigneshwar B Mohanty	EXTC / Second Year / III / A Division (D9A)	10000
28	Bajaj Krishna Mulchand	EXTC / Fourth Year / VII / A Division (D19A)	10000
29	Nilesh Eknath Naik	EXTC / Third Year / V / C Division (D14C)	10000
30	Vishal R. Gajwani	EXTC / Fourth Year / VII / A Division (D19A)	10000
31	Amit R Nigade	EXTC / Third Year / V / C Division (D14C)	10000
32	Ashitosh Ajit Joshi	EXTC / Third Year / V / B Division (D14B)	10000
33	Sandesh sopan Navghane	EXTC / Third Year / V / B Division (D14B)	10000
34	Saurabh Ramesh Yadav	EXTC / Fourth Year / VII / C Division (D19C)	10000
35	Pavan M. yadav	EXTC / Third Year / V / C Division (D14C)	10000
36	Vinay Anupkumar Bhagwani	EXTC / Third Year / V / B Division (D14B)	10000
37	Bhagwani Rohit Bharat	EXTC / Fourth Year / VII / A Division (D19A)	10000
38	Suraj Suresh Jadhav	EXTC / Fourth Year / VII / C Division (D19C)	10000
39	Sagar Brijwani	EXTC / Fourth Year / VII / A Division (D19A)	10000
40	vasant m salunkhe patil	EXTC / Third Year / V / B Division (D14B)	10000
41	Nikita Nareshkumar Gurnani	EXTC / Second Year / III / B Division (D9B)	10000
42	Nikhil Ahuja	EXTC / Third Year / V / A Division (D14C)	10000
43	Tanvi Punjabi	CMPN / Fourth Year / VII / A Division (D17A)	10000
44	Harsha Prakash Vidhrani	CMPN / Second Year / III / B Division (D7B)	10000



Institute of Technology

45	Viren Mahesh Wadhwani	CMPN / Third Year / V / B Division (D12B)	10000
46	Harsha Rameshlal Punjabi	CMPN / Second Year / III / B Division (D7B)	10000
47	VIjay Dinesh Kataria	CMPN / Third Year / V / B Division (D12B)	10000
48	Mahima Mohan Motwani	CMPN / Second Year / III / A Division (D7A)	10000
49	Nisha Sanjay Kataria	CMPN / Second Year / III / A Division (D7A)	10000
50	Tarun Ramrakhyani Ramesh	CMPN / Second Year / III / A Division (D7A)	10000
51	Jyoti Dhanraj Tejwani	CMPN / Second Year / III / C Division (D7C)	10000
52	Kajal Khatwani	CMPN / Third Year / V / B Division (D12B)	10000
53	Deepika Khithani	CMPN / Third Year / V / B Division (D12B)	10000
54	Girisha Navani Uttamchand	CMPN / Second Year / III / A Division (D7A)	10000
55	Chetan Omprakash Gupta	CMPN / Third Year / V / B Division (D12B)	10000
56	Sneha Laxman Dighe	CMPN / Fourth Year / VII / B Division (D17B)	10000
57	Abhijeet Bhattacharya	CMPN / Third Year / V / B Division (D12B)	10000
58	Manisha Raju Mirchandani	CMPN / Third Year / V / B Division (D12B)	10000
59	Nikhil Vatwani	CMPN / Third Year / V / B Division (D12B)	10000
60	Kamal Teckchandani	CMPN / Second Year / III / B Division (D7B)	10000
61	Krishna Mukesh Shahri	CMPN / Third Year / V / A Division (D12A)	10000
62	Rahul Suresh Godhani	CMPN / Second Year / III / B Division (D7B)	10000
63	Vijay Suresh Godhani	CMPN / Fourth Year / VII / B Division (D17B)	10000
64	Swapnali N. Ghumkar	CMPN / Third Year / V / A Division (D12A)	10000



Institute of Technology

	830000		
83	ganesh anbhule	ETRX / Second Year / III	10000
82	Sunny Shashikant Gawas	ETRX / Third Year / V	10000
81	Sankalp Khandkar	ETRX / Third Year / V	10000
80	PRATIK SUBHASH BRID	ETRX / Third Year / V	10000
79	Gokul Narayanan	ETRX / Third Year / V	10000
78	Harshal Raghav Kadlak	ETRX / Third Year / V	10000
77	ADITI DINESH BORE	ETRX / Fourth Year / VII	10000
76	Sukhwani Pawan	ETRX / Third Year / V	10000
75	Divya S. Upalekar	ETRX / Fourth Year / VII	10000
74	Yatin Kapur	MCA / Third Year / V / Evening	10000
73	SUNIL KABIRAJ SAHU	MCA / Second Year / III / Evening	10000
72	NAIR AJAY KRISHNANKUTTY	MCA / First Year / I / Morning	10000
71	Reena Dambaru Epili	MCA / Second Year / III / Evening	10000
70	Ashutosh Vinod Deshmukh	MCA / Second Year / III / Morning	10000
69	sanket sitaram patil	MCA / First Year / I / Morning	10000
68	Shubham Basavraj Kamalapure	MCA / First Year / I / Evening	10000
67	Pravin Tahiliani	CMPN /Third Year / V	10000
66	Kajal Balu Sonawane	CMPN / Second Year / III / A Division (D7A)	10000
65	Hitesh Narendrakumar Valecha	CMPN / Second Year / III / A Division (D7A)	10000